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#include <iostream>

using namespace std;

int n, m, ans;

int a[105][105];

/] g L. s PN A
int dx[] = {-1, o0, 1, ©};

int dy[] = {e, -1, @, 1};

[/ R TEE, Fpid s X



void dfs(int x, int y) {
[/ EETEFY
if(x<O || x»@n ]l yeco || vr>:=mn)
| return;
// FEH R IXELEG ()
if (alx]I[y] == @)
| return;
alx1lyl = ©; // tnuwd vl
[/ 5 VT7 e
for (int i = 0; i < 4; i++) {
- dfs(x + dx[i], y + dy[i]);
}



int main() {
cin >> n >> m;

[/ BEAHE

for (int i = 9; i < n; i++) {
for (int § = ©; j < m; j++) {
char c;

cin 3> c3

alillj] = ¢ - '0'5 // HHHKF



// i ) E A E

for (int i = 0; i < n; i++) {

é fOP (int j = 0; j < m; j++) {
1f (alillj] == 1) {
ans++;

afsti, 1)8

}

cout << ans << endl;
return O;



